upP TEST | Number l Schofield & Sims ' Mental Arithmetic 4 Answers CHECK-UP TEST - Number
= T 111 10%10= 100 (6x6)+5= a1 27 x R 715 : % Fillin the missing numerator or denormninator.
8= 16 4x 7= 28 (Ox h+7= Las 49%x 6= 794 . 3_ 12 : z_ 8 7 A NP F 4 _ 40 3 - 30
- _ 4 16 3 12 8 24 6 18 5 55 0T e
= 7 9x 3= 27 (5x8)+4= 44 107 x 7= e .
8 = 15 8 x 6= 48 (8x0)+6= & 93 x 10= erg Write each fraction in its simplest form.
7= 1 1x 8= % (10x5)+8= 58 180x 10= 1800 2= 3 2. 5 4 ®. 4 0 B_ %
9= 2T 5x 9= 45 (Bx8)+6= 7 95 x 20= 1200 ) . .
. . - i e 5 Change each improper fraction to a mixed number.
= 23 7x 7= 4% (3 3)+2= A 86 x 40 = 3440 - 2 1 -3 i 7 4
_ - 1 _ . _ , b= 4 Y= & Y= 5 2= & T= T T= 133
3+29= ZZ 0x Q== Y OGx8)+7 = 79 100 x 80 = 2000 : 4 . 5 T 8 T8 6 1 i 3
74 36= 42 4 x 8= 34 (4x9+5= A 98 x 100 = 9800 . Change each mixed number to an improper fraction.
: = 34 = &3 = 45 = O AN ; 3 26 E 7 39 55
e o o3 (Ixo3 2040 20800 = 8= Se= 9% =0 4= % 0= 5
12- 5= 7 24+ 3= B 29:3= sr 2 102+ 3= 34 |
- 0= 5 40+ 8= 5 67+8= g8r. 3 336 + 4= B4 by Write as a fraction in its simplest form. Find the whole when
M- 3= & 0+ 6= O 21+4= N 648 + 6= oz 50 of 75 3 47 % is 35 M
14- 5= 9 54+ 9= 5 6+7= 6r 6 590+ 10= 58 30p of £1.00 e 48 Jis27p 36D
- R & - = i = = . - : !
;i 2” S e 4; : “;— ! 39: = 7r ”f 800+ 10= g? : 25¢m of 1m E _sap  Lis3eem  a5em
e . = I 3: o - ; = o 70+ 9= i :: 540 «+ 20 = s : 12kg Of 30kg } 35[ _{% is £1.40 £2{}{-}
- e T = 0= 9 51:6= gr. 3 420+ 60= A 70 of 100 a8 _200g 2158009 __1200g
. 32- 8= 724 36 4= 9 13:+7= iy & 1050+ S50= 2] 8004 of Tkg 4 . 5 < 5000 5000
58- 9= 49 63+ 9= 7 52:5-= jor 2 4000+100 = 0 , i : P! S
| m. e ; 400mlof2t ° _5 5 of 1200 Lo B60 0 gis24l o BAL
47 - 20 = 27 56+ 8= 7 4:+9= Sy 4 2900 +100 = 25 ) s \ s '
7 . 2 45 of 100 - 55 of g, 13509 5 5£1.80 €400
Write these numbers. = \Write as decimals. Haw many tenths equal ‘
. ‘ Write as percentages.
Fifty thousand and seven L BROOY 47 tenths _ 47 6.8 63 ‘
s e S : a 33 out of 100 33% b 87outof100 __87% c9outof100 _ 5% d45outof100  45%
Sixty-twao thousand four hundred 201 tenths 201 14.9 149 = . -
and two 57407 R T - a 0.65 5% b 0.38 . 38% ¢ 075 ..15% d03 e 30%
e TR 4 hundredths - g4 30.47 - : 29 259 h 2& 5HY, 1 19 d 12 139
One hundred and forty thousand o a oo L3570 100 =L s 2 (] C 100 - Yo, 100 - .:'..:c?.../o.
and eleven 140071 309 hundredths  __ 2.40% How many
e ARG 580 hundredths 55 hundredths equal Change each fraction first to hundredths, then write it &s a percentage.
Two hundred and six thousand and nine 2060409 T o : 19 a8 . . 3 2 . 13 o5
1 L 4y L - A _ 2 = e — == — i — S50
30000 + 400 + 6= ?,Qﬁ{}l{} 603 thousandths i)-.ﬁ@@_ 0.e3 e 9J a g = 100 = 38/0_ b a5 = 00 = - 422 __AJ c 70 = 100 = S %’3,/‘?
100000 + 7000 + 50 + 8 = 107058 75 thousandths G075 7.05 B ai = &y = 75% bd = 55 = 20% ck= 5 = 70%
(4 x1000)+ (6 x100) + (3 x10)+ 8= 4538 aoogjhouza”dths m"” 3.2: 240
(9 % 1000) + (7 x 10) + 5 = 5075 9+ ﬁ?’“ ﬁ‘o; 538 How many é Fill the blank spaces in each of the columns. The first is done for you.
(3 x 1000} 4 (4 x 10) = 2040 10+ 15 + 7000 = 18072 ‘(Ejhtoﬁusandths equal a b d d e f g h i ] k I m
A 5 tenths + 003 3 ' Fraction in its N . .
1 mill 4 A P ) - raction in its 1 1 3 1 Z 3 4 1 2 7 g 1
o 1.|||(.}n 000000 2 hundredths = .52 0.078 N simplest form 2 4 4 5. 5 5 E 0 1o o i 20. 1oy
5 millicn 1500000 A ey :
G o 17 hundredths and 152 1520 Secimal fraction| 05 | 025 | @75 | 0.2 | 04 | o5 | 08 | §1 | 03 | 87 | 09 | 0.05 CO]
7 million 250000 6 thousandths = __&.178 2.8 2800 - ]
2.7 mitlion 2700000 4.097 : é{}gﬁ m Percentage 50% | 25% | 75% | 20%  40% | 60% | BEC% I 0% | 30% | 70% | 90% 5% 1% |
503+ 07= 573 645x10= 545 79+10= A 2 Find the value of x. Find the value of Find the vaiue of Find as a percentage |
25+ 154= 404 0873x10= B73 402+10= a0 X+7=24 g 7 25% of 120 .30 50% of 14p e P & of 24 .‘
: 1 :
006+ 104=__ 11 203x100= 203 34+100= .34 54 x=32 27 50% of 35 17z 20% of £6.50 £1.30 75 of 15 . |
37+ 035= 405 0092x100= 22 107+100= 007 X+15=5 35 75% of 400 o300 100% of 93p g3 40p of 50p
1 0.284+1.625= 1905 o 1.64x100C= 1640 608 + 1000 = _0.605 31-x=16 1% 10% of 1000 o a00 0 10% of 2.5kg . ZB4g 93p of 93p ‘
0.053 x 1000 = 53 1035+ 1000 = 1.035 x-63=10 _ 163 30% of 90 e 27 5% of 4l _.260ml 200g of kg i
2- l4= B8 18x5= 9 56+:8= 0y 10 x x =25 25 70% of 200 ...340 30% of 2m _.Boam 700ml ot 1L
14- 09= 05 4x163= 852 10.25:5= 205 xx4=18 45 90% of 160 144 1% of £1.00 D 25p of £2.50 i
10-8.75= 125 009x8= 072 0636+6= 7=% T 20% of 95p ...49p 7% of £1.00 S £1.50 of £2.00 Y
48-376= 104 7x208= L1456 477:9= X206 s 40% of £20 £8.00. 3% of £3.00 9% 7p of £1.00 LI
07-058= 012 1.063x6= 6,378  8032+8= 9+x=7x7 _ 40  B60% of £15 £9.00 . 12% of £3.00. £1.08 30cm of 1.5m. - :
44 ‘




